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Part I1I. LANGUAGE - 1II (ENGLISH) (Marks: 30)
The boy laughed at the beggar. The passive form of it is:

(1) The beggar was laughed at by the boy

(2) The beggar was laughed by the boy

(3) The beggar was being laughed at by the boy

(4) The beggar was being laughed by the boy

It interests me. This sentence can be rewritten as:

(1) I am interested in it (2) I have been interested in it

(3) I will be interested in it (4) I was interested in it

I said to him, "Why are you working so hard"?

It can be reported as

(1) I asked him way he had been working so hard

(2) I asked him why he was working so hard

(3) I asked him why was he working so hard

(4) I asked him why had he been working so hard

In his autobiography, he remembers his wife as an everyday heroine who epitomised
selflessness and stood for the victory of mind over matter. He honoured this
character of Indian women and dedicated a book, titled "Religion and Society" to
them.

A dutiful teacher, a deeply spiritual thinker, an able policymaker, Radhakrishnan
was every bit the visionary India needed. Nobel laureate C.V. Raman beautifully
summed up his glorious life, "The frail body of Radhakrishnan enshrined a great
spirit-a great spirit which we have learnt to revere and admire, even to worship"
How do great men affect the integration of mind, body and soul?

(1) Through freedom

(2) Through their wise words

(3) Through their message of peace and love

(4) Through their integration of body and mind

Mahatma Gandhi called himself the of Radhakrishnan.

(1) Teacher (2) Lord Krishna (3) Arjun (4) Friend
Radhakrishnan remembers his wife as in his autobiography.

(1) amother (2) his inspiration (3) an everyday heroine (4) Indian woman

Name of the book written by Radhakrishnan that was dedicated to the selflessness of
Indian women:

(1) Indian Women (2) An Everyday Heroine

(3) Autobiography (4) Religion and Society

According to Gandhiji, what made his and the people admire Radhakrishnan ?

(1) his policies (2) frail body (3) a great spirit (4) his vision
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Identify the complex sentence from the following

(1) We read books but they watch T.V.

(2) If you search for it in the school, you will get it.

(3) You go there or they will not give you.

(4) She is not only good in English but also good at Maths

He woke up to hear the sound of bells....... in the distance.

Choose the right option to fil in the blank.

(1) clanging (2) banging (3) buzzing (4) whistling
Identify the phrase containing Noun + Noun.

(1) strong light (2) shed light (3) a light source (4) aray of light

John hates women. He is a

(1) Misogynist (2) Polyglot  (3) Prodigy (4) mercenary
There's Use in complaining. They won't do anything about it.

Choose the correct answer:

(1) alittle (2) little (3) a few (4) few
Ramesh has two brothers, but he doesn't speak to of them.

Choose the correct answer:

(1) either (2) neither  (3) both (4) any

What was in the box?

Choose the correct answer to complete the sentence:

(1) you did think (2) you had thought (3) did you think that (4) did you think

I am annoyed him what he has done to us.
Choose the correct answer to complete the sentence:
(1) with, for (2) for, with (3) with, from (4) for, from

The expression 'to turn over a new leaf means:
(1) To change one's behaviour for the better (2) To take a decision

(3) To read something carefully (4) To be cautious

He eats banana every morning.

(1) a (2) the (3) any (4) an
Tomorrow, there is a meeting in our school. Come early, ?
(1) do you (2) don't you (3) will you (4) won't you

Identify the correct question. grammatically

(1) What height is Mount Everest?

(2) How tail is Mount Everest?

(3) How much height is Mount Everest"

(4) How high is Mount Everest?

Choose the correct word to fill in the blank in the sentence.
Copper is useful metal.

(1)a (2) an (3) the (4) any
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I like singing. In the above sentence, 'singing' is:

(1) a present participle (2) a gerund

(3) a past participle (4) a model verb
Sindhu said to Ganesh, "Are you fine?"

The conjunction that can be used to change this sentence into indirect speech is:

(1) whether (2) that (3) who (4) when

Choose the correct 'Yes / No' question.

(1) Does he reads novels? (2) Are you read novels?

(3) Won't you come here? (4) Do you are a student?

It's time you ............... to bed. go Choose the correct verb that fits the context.
(1) went 2)ywill (3)go (4) had gone

The General Service List of English words (GSL) is associated with:

(1) Bilingual method (2) Grammar translation method

(3) Dr. West's new method (4) Direct method

The process of determining the changes in behaviour through instruction is :
(1) Test (2) Evaluation (3) Measurement (4) Assessment

Remedial teaching is

(1) nothing but re-teaching.

(2) something where achievement is expected to be very low.
(3) need not be highly specific and need based.

(4) more like a crash course.

Listening to public speeches belongs to

(1) Focussed listening (2) Gist listening

(3) Appreciative listening (4) Casual listening

One of the following helps us to get a bird's eye view of the book. Identity it.
(1) Jacket (2) Front page (3) Blurb (4) The preface
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